A (5-6&I1-N 1 2 3 4 [ B 53
1 B’E 1E tetetete 6 — 0|6 — 0|6 — 0] 30 1.000 1
2 HE EXED TAKEHAN TENNIS CLUB [0 — 6 6 — 5|6 — 0] 21 0.353 2
3 XA & EAETC 0 - 6|5 -6 6 — 0| 1-2 0.294 3
4 BR fEA UNLWTC 5 - 6/0 - 0|0 -0 0-3 0.455 4

B (4&31-1) 1 2 3 - 8 R [E5
1 =Y #E jtETC 6 — 4|6 — 0 2-0 0.750 1
2 PEs SRk BETEEEFR 4 - 6 6 — 0 1-1 0.625 2
3 NiE 88 - 0 - 6|0 -6 0-2 0.000 3

C_(7&3-HN 1 2 3 - [ 23 [
1 NI e HETC 6 — 1|6 — 0 2-0 0.923 1
2 =H BB BB SRR 1 -6 6 — 1 1-1 0.500 2
3 Lok - 0 - 6|1 -6 0-2 0.077 3

D (8%&J1-N 1 2 3 - [ s [
1 Eall BR ESIT20%/) 6 — 1|6 — 0 2-0 0.923 1
2 fink BE INEBHREFR 1 -6 6 — 1 1-1 0.500 2
3 BRIl $hk P 0 - 6|1 -6 0-2 0.077 3

E (9%I1-M 1 2 3 = BE B (g
1 o ® BETESEFR 6 — 3|6 — 2 2-0 0.706 1
2 TH Bz TEAM 0/40 3 -6 6 — 5 1-1 0.450 2
3 it RS UNILY>TC 2 - 6|5 -6 0-2 0.368 3

F (10&3-H) 1 2 3 - B B [
1 =HH OB LAETC 6 — 2|0 — 6 1-1 0.429 2
2 AR 1S BETESEFR 2 -6 2 -0 0-2 0.400 3
3 ML B FRICF-STC 6 — 0|0 - 2 2-0 0.750 1

G (10&31-N) 1 2 3 - [ s [
1 FE IR kiss shot 6 — 1|6 — 1 2-0 0.857 1
2 HE AR TAKEHAN TENNISCLUB |1 - 6 2 - 6 0-2 0.200 3
3 F5H S BETHSEFR 1 - 6[(6 — 2 1-1 0.467 2

H (12&3-h) PR PR JIEfL
1 HL A JELTC 2-0 0.667 1
2 o HE IEPBERE PR 0-2 0.400 3
3 ik 2% L ETAS2Z7 1-1 0.444 2
= = = 0.600

1 (13&31-H) PR BE JIEfL
1 FH = FERIEETTA 2-0 1.000 1
2 £H BA BETEEEFR 0-2 0.200 3
3 B #s - 1-1 0.400 2

J (14%F3-h) B B NIEAL
1 B2 EA BEETEREFR 2-0 1.000 1
2 FE IEF e 1-1 0.500 2
3 EA X WEPBER SRR 0-2 0.000 3

K (15831-K) BE B NIEAZ
1 Ll wth b ETC 1-1 0.563 2
2 Kk E BEETEREFR 0-2 0.077 3
3 =g hth - 2-0 0.800 1

L (1681-M) A BE NgfiZ
1 SH A TEBTC 2-0 0.750 1
2 it Al TAKEHAN TENNIS CLUB 1-1 0.421 2
3 &= R - 0-2 0.368 3

M (17&3J-h) BE BE JIEfL
1 PafEB o P 2-0 0.750 1
2 ML FAsE BEE—REAR 1-1 0.500 2
3 =L R MATS 0-2 0.250 3
(18%1—h) BER B JIEAZ
1 FHEF R J- 2-0 0.800 1
2 @l Bt TAKEHAN TENNIS CLUB 1-1 0.471 2
3 it &R P 0-2 0.250 3




